A £ 0l & AF & S

Al A

024E 5 20laF LetelH A4
SA AL
Y CRISY HE U SNB(RELSR/ER)
Belr TADIZY =5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rafain; 16,272,012 19,225,132 A3,953,120
= 300,000
== 293,000
Al 14,679,012
CRNSY 5 2 A2 (RSLER/E2) 9,483,472 12,403,978 A2,920,506
= 300,000
< 148,000
Al 9,035,472
SADIZY =5 2,977,000 1,656,328 1,320,672
= 88,000
Al 2,889,000
OB 0IESTHEME (HEAIY) 176,000 120,000 56,000
= 88,000
Al 88,000
401 AIZHIX S0HH 176,000 120,000 56,000
=S 88,000
Al 88,000
01 A28l 176,000 120,000 56,000
O0E0I2S7S AL
176,000,000 176,000
[ 88,000
Al 88,000
AE~HEARIE 2 ST E DAL 800,000 1,485,328 685,328
401 AlEHIZ 201 800,000 1,485,328 685,328
01 Al&H| 800,000 1,480,000 A680,000
OAE~HEARE S ST DAL 800,000
SADIZY 2elo S8R FU 1,000 1,000
203 =8| 1,000 1,000
03 A=A PR FZ| 1,000 1,000
OHEZ0F AR =2 1,000,000 1,000
o=8HE & 2SS A 2,000,000 0 2,000,000
401 Al HIZL S 0HYI 2,000,000 2,000,000
01 Al&HI 2,000,000 2,000,000
Od+dHE M2 SASA
2,000,000,000& 2,000,000
CEae| JgaH 4,782,930 9,127,716 N4,344,786
= 300,000
& 60,000
Al 4,422,930
Eeig = fie2e] 205,770 201,280 4,490
201 er23| 4,770 4,480 290
01 At2teltl 2,050 2,000 50
OHgAE s 2g2el 500,000 500
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M C2NsSY 825 ¢ s (USESR/ER)
Chel: E2ate| JIERS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEHB (A )ALD S ZHIASR el2te(g &0t
HetES S| 1,550,000 1,550
02 S3=gHl 2,720 2,480 240
OtH#HAE= AIR4 =] 2,720
oMIIRz 60,0002« 12& 720
ot RS 400,000 52 2,000
307 elztol & 201,000 196,000 5,000
05 2IHRIE S 201,000 196,000 5,000
OHgAE =S ?(&2el 201,000
of(&2c| 175,000,000 175,000
odEd= AEE FRANE=
20,000,000 20,000
oYty MHYLE= 6,000,000 6,000
2 HMAIEZE EHl 176,260 362,520 A176,260
401 AlEHIZ 2018 176,260 362,520 A176,260
01 Al&H| 175,000 350,000 A175,000
O=2Z 3 L T2HHAIES FHIAY
100,000,000 100,000
OC=ZtHAIEd=E FHIA
75,000,000 75,000
03 Al 20HHI 1,260 2,520 1,260
OSZOHHAILE ZHIAY AL
175,000,000%0.72% 1,260
wg 2 HE FAES 1,357,560 1,259,000 98,560
= 300,000
S 60,000
Al 997,560
201 Ler23| 185,400 185,400
01 At2teltl 11,400 11,400
OHZHE &) 82 Hdea= 11,400
02 S3=gHl 144,000 144,000 0
Otg & Xotits dIIe= 144,000
401 AIEHIZ SR OHYI 1,202,160 1,103,600 98,560
= 300,000
= 60,000
Al 842,160
01 AlZ2H| 1,200,000 1,100,000 100,000
Oug # HeE JLEHESY 300,000
Oug & HeE FAE+SA 300,000
OXlotxte NS XHEAIE 600,000
= 300,000
== 60,000
Al 240,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 Al 20HHI 2,160 3,600 1,440
Oug & HE RAE=SAt AIE2UHI
300,000, 0002 *0.72% 2,160
2U 25 RAEs 805,040 1,615,796 /810,756
401 AIEHIX 20HH 805,040 1,615,796 /810,756
01 A28l 800,000 1,610,000 810,000
O 2% Ehl 800,000,000 800,000
03 Al 20HHI 5,040 5.7% AT56
OB 25 =H| ALY
800,000, 000&+0.63% 5,040
NEXYLE E2RXE> 1,006,300 1,956,120 A949,820
401 AlEHIZ 201 1,006,300 1,956,120 A949,820
01 Al&H| 1,000,000 1,950,000 950,000
OAlE XN =2 HHISA
1,000,000,000& 1,000,000
03 Al = THHI 6,300 6,120 180
OAlE XEgE =2FHISAH AIZ 20|
1,000,000, 000& %0.63% 6,300
=E31s4 E2FH| 453,240 1,383,960 930,720
401 Al HIZL 01| 453,240 1,383,960 A930,720
01 Al&H| 450,000 1,380,000 /830,000
O=E3Esd Z2FHISA
450,000,000& 450,000
03 AIZ S THYI 3,240 3,960 AT20
O=31sd =2 IS A AIE 0]
450,000,000& %0.72% 3,240
=E3vsH =2 FHI 302,160 704,410 A402,250
401 Al HIZL S 0HYI 302,160 704,410 A402,250
01 Al&HI 300,000 700,000 A400,000
OZ2EHsH S2EHHISA
300,000,000 300,000
03 A2 2 0HYI 2,160 4,410 N2,250
O=E3bsd 2 HHISAH AIZ20HYI
300,000, 0002 *0.72% 2,160
=E3B/sd “2FH| 453,240 1,304,680 851,440
401 AIEHIZ SR OHYI 453,240 1,304,680 /851,440
01 Al&HI 450,000 1,300,000 A850,000
O=E3BsH EZHHISA
450,000,000 450,000
03 Al< = THHI 3,240 4,680 1,440
O==3Bsd =2 HBISAH AIE 201
450,000,000&*0.72% 3,240
=5 3f L& S2HUIZSA 2l 18,360 44,950 N26,590
401 Al HIZ S OHbI 18,360 44,950 N26,590
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 Zeltl 18,360 44,950 N26,590
O=3% 3 L& T2HHIZAH 22l
1,200,000,000& *1.53% 18,360
CAIQHE AIRF& 5,000 5,000 0
203 HR=AH] 5,000 5,000 0
03 A=A PR FZ| 5,000 5,000 0
O AIHH AIRZ=X 5,000
C2AE JIsHEt 1,641,442 1,619,934 21,508
C2ANES 2L 130,652 132,812 A2,160
201 2= 54,852 53,732 1,120
01 At2t2lt] 34,572 33,452 1,120
OuHPEA Rl 500,000& 122 6,000
Oget+=ZHI 26,332
ok Z AR AEE 9,000,000 9,000
o2 EZHA Fgr2
10,000,000& 10,000
oLZRAACE A2Z 2
4,000,000 4,000
oME&g dESIE HEI| SRz
11,0003 10 =120 2 132
oHsSEUEH Jtex2 200,000& 200
cAEIINA & A& =X =8 A
3,000,000& 3,000
O=28+¢ 2,240
oz FH=E
70,0002 x8H *43] 2,240
02 s3=gHl 20,280 20,280 0
OZ332= 2 HMAl 20,280
oA ZH| 4,000,000 4,000
oMI23(3M2A) 1,000,000& * 12& 12,000
S2== P Fab == 130,000 *3LH =22 780
CERHBR UEINALS SERS
1,500,000 1,500
ocCZ2HEES RIDIKIA
2,000,000& 2,000
202 04t 12,800 14,080 1,280
01 =LHOHI 12,800 14,080 1,280
Otz ge=a
100,000 x8EH *x32+53] 12,000
OSRAHZ2 T 2= F 04|
100,000 x2& x2 2 23] 800
203 HR=H] 5,000 5,000
03 A=A PR 5,000 5,000
OAL =0t =8 =& 5,000,000& 5,000
206 M=l 18,000 20,000 22,000
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=Rl E2AE Jlsdst EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 18,000 20,000 /2,000
OczXZ(E2E+ MERY S) M2
- 18,000,000 18,000
401 AIEHIX R0 40,000 40,000
01 A28l 40,000 40,000
O&Z 01Z3E &4 & FHH
20,000,000& 20,000
Oz ael 212 &l &X=
20,000,000 20,000
Mtz =a 1,232,096 1,216,978 15,118
101 @124H| 70,556 51,234 19,322
MU IIRIMZENSES 70,556 51,234 19,322
OMEXtE 243 LAIAS 21FY 70,556
S 87,0162 x4 108! 37,591
oFFd 87,0163 x4 »21 7,310
o Xtr=E 87,0163 x4 H+5 1,741
o2tAlH| 5,0003 x4 »1082! 2,160
o
10,8773 »200%+250 Al 2++4 & 21,754
201 =3 650,540 554,688 95,852
01 At22t2lt] 503,000 420,000 83,000
ON&EHl Xtz 500,000
Ok=z2eld 1I=hl 150,000%10& »23] 3,000
2 s5=34l 147,540 134,688 12,852
ON&xte 7FbI 100,000
OM&Extg 72l 20,000
ORSY+2AZE MR
33,0003 1504 2=+ 123 5,940
ORSL42AIA ®I123
120,0002 x150 A% 123 21,600
202 048l 1,000 1,056 VNG s)
01 2L AL 1,000 1,056 A5B
ON&gR =8 100,000 x2& %52 1,000
206 M=l 480,000 580,000 100,000
01 MHZHI 480,000 580,000 100,000
OMEXMM(AZ &) 7Y 450,000
OZMad & JIERM 2 30,000
401 AlEHIZ S 0HbI 30,000 30,000
01 AlZH| 30,000 30,000
OM&&Hl =& 30,000
Il=NeEfds 24 2,3% 4,788 N2,3%4
201 fer= 3| 2,3% 4,788 A2,3%4
01 AtR2t2|HI 2,3%4 4,788 A2,39%
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SRl E2AE JIs3S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SFECERECESE
70,0002 x0H #2353 1,260
OJ ST E4 0l
63,0002 x99 »23] 1,134
CADIZYEE SEUH 2,000 2,000 0
203 R4 2,000 2,000
03 A=A 2= 2,000 2,000
OxADIzgEE Sz
2,000,000& 2,000
CEOHMALD P S 73,000 62,000 11,000
201 Ler=23 | 68,000 57,000 11,000
2 s5=34l 68,000 57,000 11,000
O ZZoliti&a S M=l 68,000,000& 68,000
305 HHal= s 5,000 5,000
01 tie=S 5,000 5,000
CEEMEIDIRES
100,000 x5024 () 5,000
C2HY AFXNEY 201,300 201,356 A5B
201 Eer2 3| 300 300
01 At2t2lt] 300 300
O HUMNFA Se==
300,000 300
202 04dl 1,000 1,056 56
01 2L AL 1,000 1,056 A5B
O=Z4go ge=a
100,000 x2& +53] 1,000
401 AIEHIZ R HYI 200,000 200,000
01 Al&H| 200,000 200,000
OEZ2HY AFXEY 200,000,000 200,000
1ENSY =25 82,100 0 82,100
SNIEE2 2 IS &Y 2= 2,100 0 2,100
202 04l 2,100 0 2,100
01 =LHAHI 2,100 0 2,100
OSHIEEZ & DEEELHS gRFA
100,000 x3& *72| 2,100
BHeHAS TS ANEESE RAES 80,000 0 80,000
401 AIEHIZ SR THYI 80,000 0 80,000
01 AlZ8| 80,000 0 80,000
O 2= AINEtEE ZALEY
80,000,000 80,000
SEXA Ma|gh 2o (sHLrb/5 - &) 1,848,640 2,470,080 621,440
=S 45,000
Al 1,803,640
SEN S daboer 2t 1,848,640 2,470,080 A621,440
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B SEX S MAD|E A (SUHLLM/ S - 5E)
Rl SEXS dae A5t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 45,000
Al 1,803,640
EIIBtAIE RAE= 533,600 805,040 A271,440
= 15,000
Al 518,600
401 AlZHIZ S 0HbI 533,600 805,040 A271,440
= 15,000
Al 518,600
01 AlZ2H| 530,000 800,000 A270,000
OEJIEAIE RAIE+SAt
500,000,000 500,000
Odtalet &I(8h ZHIS A
30,000,000& 30,000
= 15,000
Al 15,000
03 Al =2 THHI 3,600 5,040 1,440
OEIIBIAIE FXE+SAE AU
500,000,000& %0.72% 3,600
sYAA A2 FE=JAY 200,000 200,000 0
401 AIEHIZ SR HYI 200,000 200,000
01 Al&HI 200,000 200,000
SEXNS Ha|er 25t
200,000,000 200,000
SZ2EY 865,040 1,265,040 A400,000
= 30,000
Al 835,040
401 AIEHIX R0 865,040 1,265,040 400,000
= 30,000
Al 835,040
01 A28l 860,000 1,260,000 A400,000
SZETBAM 800,000
OszZH(3d) SA 60,000
< 30,000
Al 30,000
03 Al 2 HYI 5,040 5,040 0
Os=2ZEYS AL 20
800,000,000& *0.63% 5,040
SHUUHEI SIHE A 250,000 200,000 50,000
401 AIEHIZ SR THYI 250,000 200,000 50,000
01 AlZ8| 250,000 200,000 50,000
O UHl S0 At
250,000,000 250,000
FOIME HOEQ (L SSHUH/LLHEE) 473,400 272,856 200,544
=S 100,000




SA AL
B FOIME HMOTD(UNTTUE/UBHE)
ool QI NI A ey (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 373,400
QIAMHANHIA Srat 473,400 272,8% 200,544
=S 100,000
Al 373,400
MR SKICIE 29 173,400 72,856 100,544
< 100,000
Al 73,400
201 =3 2,200 1,800 400
01 At2t2lt] 900 0 900
OAtR 22|l 900
oMERRAI|ISK L U=y
150,000 3 »23] 900
02 S3=gHl 1,300 1,800 A500
Od2AI|ISKIcIE 29 1,300
oMEDAT|ISK el FHIRA2e
1,000,000 1,000
oL Z2ELE0EI| A=
300,000 300
202 048l 1,200 1,056 144
01 2L AL 1,200 1,056 144
OIS 100,000 x2& *63] 1,200
206 M=l 20,000 20,000
01 MHZHI 20,000 20,000
Od&AI|SXel M
20,000,000 20,000
401 Al HIZ 2018 150,000 50,000 100,000
= 100,000
Al 50,000
01 AlZH| 150,000 50,000 100,000
OARIEEH 20 A ALY 50,000,000 50,000
OABI ST Z2HAAS (HRESEI 1
Eg) 100,000,000 100,000
[ 100,000
MEQIAXC A2 A 300,000 200,000 100,000
401 AlZHIZ SO 300,000 200,000 100,000
01 AlZ28| 300,000 200,000 100,000
OME0IAXe] A2 A
300,000,000 300,000
DIHXIEE SADHE(SELXANL/XHLEAl) 1,175,248 901,298 273,950
CAE2 & 1,175,248 901,298 273,950
H2(2ehHS Exl2tel 1,175,248 901,298 273,950
201 fet= 3| 279,000 258,513 20,487
02 S3=gHl 279,000 258,513 20,487
OJI2(2ehHs &ile=3 273,600
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DIHXIE S SADHEH (S ELXGNL/XFLEA
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=2l TAIZ2 £ (SH9 H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
cJti2s 4033, 100S*1200x 122 178,560
oE2otsS 403 +3,300S 60N+ 122 95,040
OFATAIMO RESAR=
2,000& #2250 2=+ 123 5,400
401 AIEHIZ R 0HYI 896,248 642,785 253,463
01 Al&H| 891,000 638,760 252,240
OJz2sS Al EXISA
3,000,000& 705 210,000
OJt2(22hHS KX 30 &
o LE) 260,000
OJ2(2ehHE An2 |XE=HI(014 &
B, LRANEE) 330,000 x200S 66,000
O20w we 3ALFEXISA
160,000,002 160,000
OMFE Y= #sille 2B ZYS &%
150,000,000 150,000
OJtizs 2#Z JH| 30,0002 +1,500S 45,000
03 A& CHYI 5,248 4,025 1,223
OJtz(2EehHs R4 ¥ |X2el 2ol
833,000, 000&+0.63% 5,248
CADIZY & AN (REX XL /XA EAI) 2,232,420 3,117,060 /884,640
ANABEZ & 2,232,420 3,117,060 884,640
TAHEEZ - = 1,800 1,760 40
202 04| 1,800 1,760 40
01 =LHOLI 1,800 1,760 40
OZAAHEEZ JHe g2
100,000%2 & *02 1,800
SADIZ S BIRGHAAN 201,440 201,440
401 Al HIZ 2018 201,440 201,440
01 Al&H| 200,000 200,000
OZAIFY W A&+2 SIRAI
200,000,000 200,000
03 AlESTHYI 1,440 1,440 0
OZAI7Y W &2 2AIE AIZ20|
200,000,000%0.72% 1,440
N=2Z E20HESAt 200,000 200,000
401 Al HIZL 201 200,000 200,000
01 Al&H| 200,000 200,000
ON=Z ZAIHE =204
200,000,000& 200,000
=S JIZeEZ T2HEISAM 603,780 603,780
401 AIEHIX R0 603,780 603,780
01 A28l 600,000 600,000
Of+= JIZeE T2 HHISA
600,000,000 600,000
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CADIZZ 2 SADHE(SER XS/ XA
SAHEEZ OHE

o

I Al)

il

Sa (S & R)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 Al 20HHI 3,780 3,780
OM2E JIZLL T2FHIBA AIL2UIHI
600,000,000& *0.63% 3,780
AL TAIAE E2IHESA 100,000 100,000
401 Al HIZ S OHbI 100,000 100,000
01 A28l 100,000 100,000
Ol ZTAIHE ZZ2HESA
100,000,000& 100,000
EEAE1Z(A3-113) TAIHEEZ HESAL 40,000 40,000
401 AlEHIZL R0 40,000 40,000
01 Al&HI 40,000 40,000
OFHAFIZ(A3-113) SAIHE S2HL3
At 40,000
NS 12 (A3-185) SAIHEEE HEZA 251,800 251,800
401 AIZHIX S0HH 251,800 251,800
01 A28l 250,000 250,000
OMI=12(23-185) TAIHE =2HE S AL
250,000,000 250,000
03 A& S CHYI 1,800 1,800
ONIZ12(23-185) SAIHE S2HEIAL Al
H204| 250,000,000 *0.72% 1,800
A12 (43211 S 2)ZAIHECZE WETA 201,440 201,440
401 AIZHIZ SO 201,440 201,440
01 Al&H| 200,000 200,000
O 12 (432115 2) TAIHE S2IHESA
200,000,000 200,000
03 AIESTHYI 1,440 1,440
Oa=12(232115 2) TAIHE S2IHESA
AE 20 200,000,000 *0.72% 1,440
ZEANE(AF116)TAIHE S2OHE ALY 302,160 302,160
401 AlZHIZL SO 302,160 302,160
01 Al&H| 300,000 300,000
OFHAZH(AZ 1) SAIHE S2IHEAIY 300,000
03 AIZ 2 THYI 2,160 2,160
OFEAZ(AZ-16) A HE E2IHEAY 2,160
Aot =R A~BHE5HAl T2IHE A 300,000 300,000
401 AIZ2BIXL S CHYI 300,000 300,000
01 AlZ8| 300,000 300,000
OAstFRA~BHEEEX S22 ALY
300,000,000 300,000
a¥gZ~as rL‘*PE'( Z1-13) A E E2OHEAY 30,000 30,000
401 AIZHIZ SO 30,000 30,000
01 Al&HI 30,000 30,000




ok

rar=;
SAID

2A:
X XH -
o e

od
i’
oF
uJ

=aak

XY Z|B|SB e 8|3 < 1< S
Sle|e|xI~ S 8 3
Ao Ql<l«lala
KIo
E
E=)
SIB|2|€ 8 <8 N 818 S
|0 |0[S|S S ~|e - =|= S
B|B|B|5|® S Ll e © SIS
LH3r
il
RIS
SIS S S < S 888 833 8 & RISI8 8 8 8
Sl¥|g|vldladl ® & & N~ 9 ¥ S Slolx N S |NH B
ar
<
S
o W oW W o™ oW o ol ol o o] o
S N R R N 3 oY = N
" NW ¥ ® 3 g Za W a i =
M X T ® X * X Yo}
0 |uig g8 8 W oma @ & g G ol ~ 8
5 [y £ 8 5 & 54 g | 5 & :
2 |= g & 8 & S g
< |y < =
I ) - ol )
= |4 m & %ﬁ
= |5 |T S o - -3
= ¥ |3 T =0y £ i =
o | |5 ' B Y = 3 b Rl R g
— |z et = _ . = = 0J K- KF
KO N oD ol = = ok
oF <0 c =~ n n _ =y Rr _H_T_Ao_u__'mg
I R =l =] NN 5 Ao |s|a Moa
g A = 30| B0 HO o o < m Mo 5 0 3 5 zls < s B0
= |03 M_u_ bl B W < < R Dy O s =" K [og Uy O
A L sifoF X O ROORW W0 TS Q0 F R fob|m WX
x.%&__w mm___AmuTm % mouo o %zo%m%m %_% .&mm%%
z SEEIEIE 8 18|35 8 gl - 3
N
I+ ||~
70|~

=
10




